KATASTRALNI UZEMI

KULTURA

PARCELNI CISLO

SOND

ROZSAH PLATNOSTI

D|PIAD}S OURUDAOISDASP %33Aqz

JIUAC}R}E ©Z DXAD| JusoziAoid

159d oud DXAD| DURABJP

159d oud DYAD| QURABLP

pozoud yohrouoleq z yadnys

JIUAC)R)S 8Z DXAD| luloziroid

nys,q
WgAd| A Ipz guigdo gAOUO}Rq 23UOY

nys,q
waAs| A 1pz guigdo gA0uO}eq ¥3}DRDZ

189d oud DYAD| DAOUO}eqOZB|9Z
oonsv_ W_:WL m>w:._“_:oE_9_ @'

nyaJiq
WgAs| A AUR)S 2A0DIUACIRYS D8UOY

nyeyq
WigAd| A AUQ)S QAODIUACIRIS 9}RRDZ

00S® DINOJ DAOUIUSWIDY @'

008 DANOJ} DAOUOY]  (p——

JJUAO}Q}S 9Z DMAD| DAOZNOU Julozirold

153d oud D3AD| DAOAOY

0G|¢ DINOJ DAOUILIBLUDY
LUBP3A” @YoUPI3IS tuiazpou

0GZ@ DJNOJ DAOUIUSLUDY @'
Q0@ D4NOJ DAOUILBLUDY, @'
\

00Ll® D4nos pAoyspld @'

1sad oud DYAD| pAouocjeqozs|ez

®|

nyaiq
wgAs| A 1pz guigdo gAouo}aq 99UOY

nysJq
WgAs| A 1pz guigdo g9AOUO}Aq ¥8}DQRDZ

@

nyajq WaAs| A
NSDJD} OY2UUSWDY OYQU3|DAZOJS DBUOY

—4.324

©
N
1
— (@) N
L o ™
O Xx
x O < 2
al _m ~
O .
(a1 o Y
>— S
zZ X =
L K oo T
w £ -«
=z <(
0O < 0 O
O O
O x = <

LEVY BREH

28.39 mY/s

Q100

PRAVY BREH

251.80 |-

OBOUSTRANNY BREH

—T— |

) | 249.90

e

~
LN

~N

n
N
S
<
1
00
N
:o
<]
o
o

o =
° 2 g £
o o W
|_D||_D|
VVVV
s = = =
Z Z O g @ —
(SR E RS T s B
n »n 9O o
/U/UBBE
< << O o o2
N N O O X

— @& o— & x—

¢9'lSC — 69°LSC —

¥8'l6C __ 6¥°LGT

16160 ——

09°LGC ——
LG —— 09'lse ——

OY'L1GC — 9V'LGC —

A QTN N = T A—
Ly VSC —  £¢°lSC —

9¢'l§¢ — ¢CL'LS¢C —

vv'l6C — 2T'LGC —

¢0'l§¢ — 60°LSC —

L0'LSC — ¥0'LSC ——

18'0SC ___ 16°0S5C
18'06C — 16°09C —

¥8'06¢ —— 98°06¢ ——

¥/'06¢ —— 8L°06C ——

69°062 —— 19°06¢ ——

96°'06¢ —— 69°06C ——

— £9°06C —

—— 0£'06¢ —
¥2'0S¢

8¢°06¢ —— 6+°06C ——

L€°06¢ — 6£°06C ——

vv'06C — —

—— 8205 —

€y°06¢ —— 18'26C¢ ——

vv'1GC —— £6'C6C —

¢9°l6C — ¥8'LGC —

6¢°¢S¢ ___G1'CSC
08¢ —— S1'CGC —

€¢°CSC — £V'IGC —

Y¥'¢GC —— S0'LGC —

06¢S¢ — S0'LS¢ —

8/°16¢ — L¥'06C¢ ——

88°06¢ —— ¢C°05¢ —

¢C'06¢ — £2°06¢ —

eY'eYe — —

90°6¥Y¢ —— ¢¢°06¢ ——

L0'BYC ___ CTO'6YC
LO'BYC c0'6ve
0l'6¥¢ —— L0°0SC —

GC'6YC —— 99°06¢ —

— 96°05¢ —

SL'6¥¢ — LS0S¢ —

Ly'8YC — £¢°06¢ —

81°L¥C — ¥2°05¢ ——

81°L¥C — 89°LYC —

68°9vC N
CL'OvYe — ¢1'LYe —
0¢°LYe — —

9C' YT —— 9T YT —
oC'LYC — 9T LYT —

9L'LYC — 16'9%YC ——

0L'9YC — —
¥¢'06C —— S6'6¥YC ——

GL°06C — —

996V —— ¥6'8YC ——

98°GYC —— 2G'8YC ——

L0°9YC —— LO'8YC ——

6v'SYe —— 9C'8YC ——
— CL'SYT —

LL'SYC — 19°6¥C —

— T8 —

£¢°SYC — v¥'8vc —

ov'S¥Ye — v1'Sve —

ye'e¥e — S0'Gve —

6G°G¥Z —— 9¢°GYe ——

LS'S¥Ce —  S9'G¥C —

90'9Y¢ —— 86'G¥¢ ——

—TY'sve —

08'G¥e ____98'G¥C
LL'SYE —— 8L'GYE ——
£6'v¥e

YS'SYe — LB8'GYC —

6L°G¥C —— ¥1'G¥C —

W'SYC —— YL Y¥T —

LS'S¥C —— 61°S¥C —

LTSYC — VYT —

eL'SYe — Sevve —

VYSKY LEVEHO BREHU
VYSKY PRAVEHO BREHU

—8¢26 ——

——G0l8C ——

——60C05¢ ——

—IS'IGC —

—60'lGC —

—— 07167 —

—G6'06C ——

G6°062

— V96 —

—86'8¥C —

—L[S8YC —

—808Y —

—\L[YT —

—06'9%YC —

— 0lL'9%C ——

—01'9%C —
—96'Svc ——

—8'SYC —

—8G'SYC —

100 LETA

VELKA VODA

— L6°06¢

— 80°05C —

— 06°'6¥C —

— [8'6YC —

— 06°'6¥C —

— LL6YC —

— TL6Y —
— 0L'6¥C —]
69°6¥C

— €9°6¥C —

— 09°6¥C —

— £9°6¥C —

— L¥Y'6¥YC —

— 1€°6Y2 —

— £¥'6¥C —

—_\¥6ve |
= TV 6Y0 ——
[a4i44

— G¥'6¥C —
— GT6¥C —

— 0T°6¥C —
— BL°8vC

— GG'8YC —

— T6° LY —

— T8 LY —

— TV LYT —

I TAVA (A
[ ravA 44
— ¥0°LvT —

— 0€° Ly —

— 8LLYC —

— 96'9YC —

— CL9YC —

— CL9YC —

— §C9vC —

—109vg |
— 66'SYC —
— 96'GYC —

— SL°GYT —
— BL'SYC —

— 88'GYC —

— 18'GYT —

— LSSV —

— B¥'SvC

o
— 18°6vT — O
o

. N
— ¥esve “]

— cesrz —

— V'S

— B2°SYC

— [TSYT —

— 00°6¥C —
— G6¥VT

— CLYVC —

— 8LYV¥T —

— LLYYT —

— 9§ Vv —

— GSY¥e —

— 0¢'¥¥C

—  0SvvC — |

— G6'CYe —

— LE¥VT
— 6£YYC —

— 0e¥¥T

— ¥

— SE€YYC —

— SLY¥e —

— £8°¢YT

— LL'CYT —

1 225.00

VYSKA DNA

SROVNAVACI ROVINA

68°¢C

680l
gLol
8¢9

< L6'86

L¥'98
L£'G8

¢£L'8L

v6'6¢

L2°0C

N 98|

c0°'/L8
¥8'G8

c0'L8

vZ'0L
vC'69

66°6Y

£0'C¢C

0ccl

4.1

Gl1'96

0¢'6L

£1'G9

6G°LS
£9°'GS
v1'vS

87°GY

6v°9¢
87°L¢
S6'GC

eg'6l

GLCl

o S£7

L8

0S'LL
0£'69
G269
<Y v9

Ggl1'98
060G

v8'LYy
S9'¢y

08'G¢C

(A%

3.9

L1°06

¥8'¢8

LLYL

£9'89
cL L9

98'29

6S°LY

¢8'2¢C

3.8

£0'68

£6'GS

6G°¢¢C

3.7

8/'86

60°09
62'8S

8¢'0S

GL'Ge
qlL'Le

3.6

0L°¢6
INAA)

9¢'CL

v¥'v9

806G

£9'aYy

JAOR 4%

el

3.5

0¢'L6
LZ'88

0¢'LL

91°09

LL'ES

L1°6%

88'Gl

Y06

3.4

02'G6
LO0¥6

INANY

IAORNY

L¥'9¢C

6G°¢8

v.L'G9

V KM
V M

v

STANICENI

v

STANICENI

Vyskovy systém Balt p.v.

o
8| =
= -
S|, =
S|t =
bl
u.on.1wW6
m..m.
s g ®™
®
Q
®
-
(]
| |
-
1
X
£ 3
>= 3
| | ¥
=
@) 5 ™
[+4 m <
2| ©| o
K e ©
(o] I N
- = ™
-l o £
w Q =<
(1 4 > o
w 5| =
4 : S
E...m QO
: O 120
3 5
g g
Z z
00
~
~
M
oo
N
0
N
~
N
(o))
T}
» 1NN
M~ (@)
o 0
M~ o
|
&
4
o)
o~
N}
N
S
Lo
~
~
o0
o
rg!
00
™~
)
7 —
00
o0
©
1NN
~
M
~
|
&
| ©
0
o
)
™
©
(o]
0
AN
o)
<
~
o)
©
1NN
o
™~
o
|
o
re! &
3 A
© b2
N
o@]
N
<
©
»
r!
o~
o0
4
o)
M
M
4
0
o~
~
0
N~
1NN
o)
0
o
| |
&
4
M
e
o)
N
4
0
o)
4
M
S
[0)]
N
~
©
o
©
)
=
[
(@]
x
o
T
O
>
prd
0
N
) D
o T 2
— p ] <C
ﬂ = o
m %) w
> >
E o' o
= S| sl
= > >
~ O O
> (A o




